XYZ,,=07.93 , 100.0,, 118.95
A=256,-2,) Y

B,= 2,58, (b, - b, ) Y

3, =3[ (X=x.) /)

b, =by[ 2/}

Crg=[AF+B

6 Ostwaldcolours (o)

of maximum (m) C,g in
linear colour space Cyg 5. Y)
lllumin. Q00, Y,,=100Q Y,=50

Name Range X, Y, Z, X,

f o Yy
R, 567_775 79552 69.54 59.62 0381

Y, 492_775 87.99 97.23 63.08 03543
G, 492_567 57.54 77.78 63.06 029
C, 380_567 67.52 80.6 118.98 02527
B, 380492 50.04 5291 1155202595
M, 567492 89.5 7236 1155403226
W,,380_775 97.93 100.0 11895 0.309
N, 380 775 48.96 50.0 59.47 0.309
7, 380775 1762 180 2141 0.309

A A
03332596 487,
03915570 462
0392 535 5350
03017 487 536
02326 462 570
0.2608 5350535
03155 100%
03155 50%
03155 18%
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Parameter:
Y & Name
llluminant Q00
Y,=100 Y,=50
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